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4.

(3a + 4b)(2a — b) o] AZNA oA ab O] AlF=7

@ -3 @ 2 @5 @ 6

B

3a x 2a + 3a x (—=b) + 4b x 2a 4 4b x (-b)
= 6a® — 3ab + S8ab — 4b>
= 6a? + 5ab — 4b>

w2bA ab o] A= 501t




(a+b-3)(a-b)= AN5HH?

D a2-b2-a+3b @ a®?-b2-3a+b
® a?-b*+a+3b @ a®>-b2-3a-3b
@az—b2—3a+3b

(a+b-3)(a-b) ={(a+b)-3}a-D)
=(a+b)(a—b)-3(a-D)
=a®>-b>-3a+3b




6. (2x+y-2)(3x+2y+4)E A7Ncte] 2Fes] S o, xy o] A7

@ 5 @ 6 Ok @ 8 ® 9

ANRE o] xy o] h o= 3T A4t 2 2xx2y+yx3x =
Txy
w2hA] xy o] Alg-= 7o)t
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(x + 3y)2x = 2x2 + 6xy
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@ 18x*+36x+3 @ 36x%2+18x+3
@ 42x2 +18x-2 @ 42x2 +24x-2

@42x2 +36x -2

Z5HAo 2ylol)

(899 yol) 4 (8] Wol) x 2

22x+3+3x-1)(3x+1) +2(2x+3)(3x - 1)
2(5x+2)(3x + 1) + 2(6x* + 7x - 3)
3
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0x% 4+ 22x+ 4+ 12x> + 14x - 6
2x% + 36x — 2




2x-11
9. 125742 = (%) 2 o, x o k7

@1 @ 2 ® 3 ® 4

® 5

(5%)¥+2 = p2x+11
53x+6 _ 5—2x+11 , 3x+6 — —2_x+ 11 , X = 1




10, 3x—[-2x+2y =3 {x+ 2y~ (x - 2y)}] +2x & 3] SIAHY ax+
by 7} E| e}, old, a + b 2] F& F-5hofz=t
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3x - [—2x+2y—3{x+2y—(x—2y)}] 4 2x
=3x—{-2x+2y-3(x+2y—-x+2y)} +2x
=3x— {-2x+2y-3 (&)} +2x
=3x— (-2x+ 2y — 12y) + 2x
= 3x— (—2x—10y) + 2x
= 3x+ 2x + 10y + 2x
= Tx + 10y

a=7b=10..a+b=17




&4 a,b ol tHoto] 3x— {2x— (x—y)} =ax+by @ W, a,b O] T
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Da=-1,b=1 @ a=-1,b=2

@ a=1,b=-1 (@)azQ,b:—l

@ a=0,b=1

B

3X—{2X—(x—y)} =3x—(2x—x+Y)

=3x—(x+y)
=3x—-x-y

=2x-y
ax+by=2x-y
wakH a = 2,6 = -1 o]},




12. A% aboll tisto] x— {bx—2(x-3y)} =ax+by 4 W, a,b O] A=
212} Fajolel.
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D a=-2,b=5 @ a=-1,b=6
®a=2b=6 (@)a:—Q,b:—ﬁ
® a=2 b=-6

B ‘
x—{bx-2(x-3y)} =x— (5x—2x+6y)
= x— (3x + 6y)
=x—3x— 6y
= —2x — 6y
soax + by = —2x — 6y
wetA a = -2, = 6




—[¥® = {2x -5 (x+3)} — 347

@ -2x2-x+8 @)2x2 +x-8 @ 2x2-3x-2

@ —4x? -3x-2 ® —4x*-3x-8

(FA) = - {#* - (2x- 5-x-3) - 3x?}
=— {3 - (x-8) - 342}
=—(x2—x+8—3x2)
=—(-2x>-x+38)
=2x+x-8




® 2x-2y

5x— [3y— {x— (2x-y)}]
=5x—{3y-(-x+y)}
=5x-(3y+x-y)
=bx—-2y—x=4x-2y
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16. 24-x2-2{1+3x2-4(2-3x)} &4

O -14 @7 ® 14

B

4-x*-2{1+3x*-4(2-3x)}
=4-x2-2(1+3x% -8+ 12x)
=4-x2-2(3x2 -7+ 12x)
=4 —x%—6x2+14 - 24x

= —7x% - 24x+ 18




17. 4 - {3x2 -2x+ (5x-4)} = A +Bx+C 4 W, A+ B+ C ¢
A=?

ORVEEENOR @1 @2 ® 0

~&B ~

4x2—{3x% — 2x + (5x — 4)} = 4x*—(3x°+3x—-4) = x*-3x+4 =
Ax* +Bx+C

Ot A =1, B=-3, C=4°|BEE A+B+C =1+(-3)+4 =
2 oJtt,




18. oA 4-x2-2{1+ 322 - 4(2 - 3x)} & AXSIA S o, 45

O -14 @7 ® 14 @®)18

B

4-x%-2{1+3x*-4(2-3x)}
=4-x2-2(1+3x% -8+ 12x)
=4-x2-2(3x2 -7+ 12x)
=4-x%-6x2+ 14 - 24x
=-Tx%> - 24x+ 18
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20. 4x? - {3x*-2x+(5x-4)} = Ax>+Bx+C 4 W, A+B+C 9
A=?

ORVEEENOR @1 @2 ® 0

B ~

4x? - {3x* - 2x + (5x - 4)}
=4x% - (3x®> +3x-4)

=x*-3x+4

=Ax* +Bx+C

matd A =1, B=-3, C=40|22
A+B+C=1+(-3)+4=20°]|th




21. 4x-Bx+y-{x-3y+(2x-5y)}] =ax+by W, &5 a, bl
ti5tod a - b ©] & F5HH?

® -5 ® -3 ® 3 @ 7 )13

B

4x - [3x+y— {x-3y+ (2x - 5y)}]
=4x— (Bx+y—3x+8y) =4x—9y
La=4, b=-9,
ca-b=4-(=9) =13




22, 2y-2[x+3y-3{-2y+2(x+y)}] E | Y&, x & A5
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2y-2[x+3y-3{-2y+2(x+)}]
=2y-2{x+3y-3(-2y+2x+2y)}
=2y —2(x+ 3y + 6y — 6x — 6y)
=2y —2x—6y— 12y + 12x 4 12y
= 10x — 4y
210+ (-4) =6




23. Tx—[5x—{2y - 4(x - 3y)}] E 15| F wf, x o A2ty o] A

27

7x — [5x - {2y - 4(x - 3y) }]
= Tx— (9x — 14y)

= —2x+ 14y

L (-2)+14=12




24. 2a-[2b-{a-(a+3b)+2b}]-aE

® 2a+3b @ 3a-3b
@a—Sb ® b5a-b

2a - [2b— {a—-(a+3b) +2b}] —a
=2a-{2b-(-b)} -a
=2a-3b—-a=a-3b




25.

3x — [7x— {6x—2y— (|:|+2y) —4x}] =—-4y+x
3x—7x+6x—2y—|:|—2y—4x:—4y+x
—2x—4y—|:|=—4y~|—x

|:| = -3x




